Monday 22nd February Home Learning

Maths

This week we will revise and cement our fractions learning. Please have a go at set A, then if you have time choose either set B or C.
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1.409 +100 2.178+500 3.3x9 4.48+8
Practice: Equivalent Fractions (

5. Recap: What do the numerator and . 6. Look at the diagram| B 1

denominator of a fraction represent? Find one pair of 3 3 3

equivalentfractions. | ; [, |+ [ |1 |1
sls|s|s|s|s

7. Look at the diagram/| , N N N N 8. Label the diagrams

Find one pair of R N with fractions and find|

equivalent fractions. |1 [+ 1|1 s (1 {a]s|s]s one pair of equivalent

(% |w|w|w |5 |5 |5 |9 |%| | fractions.

9. Label the diagrams 10. Explain what you notice about these .
with fractions and find| equivalent fractions.

one pair of equivalent 1_2

fractions. R

11. Draw two bars of equal length, one on top 12, Use the diagram 3 : 3

of the other. Split the first into 2 equal parts and to find 3 equivalent Sl o]l
the second into 4 equal parts. Label them and fractions. G N
find an equivalent pair of fractions. BB
13. Jane says that :— = ;— . .

Explain her mistake.

14. Identify the odd one out in each set of fractions.

X 32 8
a. 7 3 10

3 4 2
b+ &+ 5

2 1 4
‘v T T

You might want .
Spot th istake
. totalk to an adult pot the mistal
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1) Label the fractions and identify the equivalents for one half.

a) Onehalfisequivalentto

by _ isequivalentto

¢ ____ isequivalentto

2
2) Is the fraction in the table equivalent to 57
Complete the table.

3) Hana, Isla and Fabien all had a bar of chocolate the same size. Hana ate two quarters of her bar of chocolate. Isla
ate three sixths of her chocolate and Fabien ate five tenths of his chocolate. Who ate the most?
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1) Write the fraction that each bar represents to show that the fractions are equivalent.

2) Complete these equivalent fraction statements.
What method could you use to find the missing numerator or denominator for each one?

a)
41
5 10
b)
6 L
18 6
Q)

WIN
n
|





image4.png
Qno. | Question Answer

1 409 + 100 509

2 178 +500 678

3 3x9 27

4 48+8 6

5 What do the numerator| The denominator is how many parts the whole has been splitinto. The numerator
and denominatorofa | shows how many parts of the whole have been identified.
fraction represent?

6 Look at the diagram.

Find one pair of
equivalent fractions.

7 Look at the diagram. e
¢ ¢ 10
Find one pair of
equivalent fractions.

8 Label the diagrams | Labelled quarters and eights
with fractionsandfind | L_2 2 4 3 6 o4 8
one pairof equivalent | 4~ & ° 7478 °Ta T e 0
fractions.

9 Label the diagrams | Labelled thirds and ninths
with fractionsandfind | 1 _ 3 2 & 3 o
one pairof equivalent | 3~ 9 * 379 39
fractions.

10 Whatdoyounotice | The numerator and denominator in 5- have both been multiplied by 2.
about these equivalent]
fractions?

1 Draw two bars of equal| &= = = or == -
length and label.

- I_Z_. 3 ,L.4_5,3_ 5.3

12 Usethe diagram tofind| = === 5 or = = =5 or == &= ¢
3 equivalent fractions.

13 Explain Jane’s mistake.| Jane has not multiplied both the numerator and denominator of - by two to find an

equivalent fraction.

14 Identify the odd one | a. 2
outin each set of s
fractions. 9

4
0
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1) a) One half is equivalent to two guarters. 3 =

1) b) Owe halfis equivalent to three sixths. 3 =

2
g
13
6

1) c) Owe halfis equivalent to five tenths.% = %

2)

3) They have all eaten the same amount of chocolate because %,

Fraction

Is it equivalent to %?
v oor x

% and % are all equivalent to one half.
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2) a) g = % I looked at the denominators. As S x 2 = 10,1 knew | needed to multiply the numerator by 2.
b) 16—8 = % I looked at the denominators. As 13 =3 = 6, | knew | needed to divide the numerator by 3.

= }—? I looked at the numerators. As 2 x S = 10, 1 knew | needed to multiply the denominator by S.

(3)
~
WIN




